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I| &#ETE 1.0 =X 755,399,520
| SR LF 1.o| =X 26,074,000
/N E 781,473,520
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I| HEfees 1.0 =X 34,624,317
| HGEHEE 1.o| =X 53,938,142
m| —fxEss 1.o| =X 78,303,237
N 166,865,696
& & 948,339,216
et (L EfA%) FTHELTEIEET 948,339,000
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[-A| AMET=H 1.0 = 662,276,415
[-B| #MELE 1.0 | = 55,065,303
[-C| iRk T 1.0 = 38,057,802
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1 |EHEETE .o K 17,475,380
2 |kT=E 1.0 = 14,261,080
3 [T 1.0 =X 23,022,192
4 | LE 1.0 =X 17,555,170
5 |Av/U-bIE 1.0 = 27,176,756
6 |FifETEH 1.0 = 12,776,022
7 |8BIE 1.0 = 107,828,091
8 |BEflavs)-TH .o K 28,181,240
9 |BikILE 1.0 =X 28,775,425
10 |A 1= 1.0 = 142,014
11 [T .0 K 291,773
12 [RKLHE 1.0 =X 3,301,811
13 [BRK R LF .o =X 10,642,375
14 |[&BET=E .0 K 65,230,195
15 | LE 1.0 = 5,793,584
16 |FEETH 1.0| = 109,221,504
17 [BETF 1.0 | =X 721,249
18 | E&®M T F 1.0 = 812,824
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20 |WAMET S 1.0 = 61,454,266
21 |ftEka=ybT = 1.0 = 60,851,864
22 |ZFETH 1.0 = 44,962,600
23 |V ILHE .0 K 6,142,600
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1AL 1.0| = 3,698,777
2 |HEkILE 1.0 =X 8,228,858
3 |HFELE 1.0 =X 15,234,861
4 |fERILE 1.0 =X 2,719,537
5 |METAEW 1.0 = 15,531,500
6 |AiE B E 1.0 =X 2,130,297
T |B2EpERE .0 K 6,151,956
8 | PEAIE B SE 1.0 =X 1,369,517
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1 |FHEEARAR .o K 15,247,709
2 EAKALE - 1Rk 1.0 =X 876,720
3 [VBKAHEE-2fig iR .0 K 8,434,440
4 |HEPRE AR .0 K 1,102,858
5 |FoftumfEs .0 K 918,710
6 |EOMESMER .0 K 901,075
T |BRAEMAULSY 1.0 = 10,576,290
A Ft 38,057,802
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